Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, a
in chromaticity diagram (p,(F,U), 4,(F,U)) P2g=2- Boﬁqu\rl 0
Gx(F,U) = (F)=05(V) %:=0.0,8=1.0
P2=PaoBl3.0757x-x;)~2,5702y-0,0960]y

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, ai
in chroma diagram (p%(F,U), g% (F,U)) P20=2- 806,q20»1 0
' (FU) =y [0p(F)-(UN] = ¢y dp(FU)  %:=0-0,Bo=1.0,0y=0,01Y 0341
P=PaBl3.075Tx-x))~2,5702y-0,0960]

-2,2 l 0p=0p([1,9907 (xX.)+3,8617y-2,4046]§ -2,2 0=0p1,9907 (x-%.)+3,8617y-2,4046]§
. 2, .
e p%(F.U) =cy pp(F.U)
Po(F)-Py(V) ) =cy [PoF)-Po(U)]
2,00 2,00 v pz(F ) q2<F v) 2%0 e 00 va(p V) q5(F.U)
1 752 -0.506 1 -0.491
2 U 412 -0.276 2 0 553 -0.371
3 0.252 -0.156 3 0.436 -0.27
4 0.12 -0.066 4 0.256 -0.142
5 0.03 -0.016 5 0.077 -0.042
-2,00 6 -0.008 0.012 x=0313 = 4 6 -0.024 0.037
%= 0,313 7 -0.039 0.032 U= 7 -0128 0.108
v 8 -0058  0.052 Yy, =0324 8 0215 0.193
yu= 0,324 9 -0.078 0.072 u " 9 -0.316 0.294
U 00 o. Yy =2530 U 00 0.0

Yy = 2530,(F,U) =
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Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, a
in chromaticity diagram (p, (F,U), 6, (F,U)) P20=2- 806,q2‘r1 0

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, an
in chroma diagram (p* (F,U), g% (F,U)) Pag=2. 806,G2Lr1 0

2(F.U) = oy [(F)~(U))] = ¢y Gp(F.U) %:=0.0,B:=0.8,c,=0,91Y 034

0p(F,V) = ap(F)-ax(V) %=0.0,B.=0.8
P=Pa0B[3.0757x-%.)~2,5702y-0,0960]y Po=PagB 3,075 Tx-%;)-2,5702y-0,0960]y
-2,2 % (=050 1,9907 (x-X)+3,8617y-2,4046] -2,2 0=l 1,9907 (x-x))+3,8617y-2,4046]y
. 3 . r 2,00
p%(F.V) =cy po(F.U)
v=9| - _
t Po(F)-py(V) _ = ¢y [py(F)-py(V)]
-2,04 2,00 \ DZ(F V) d,(FU) 0 s 00 Vp5(FU) gy(F.U)
1 0752 -0405 1 073 .393
2 2 0553
3 3 0436
1 2 025
~2,00 6 2.0 -
¥y =0313 * 7 Hy=0313 7 -0128 0086
8 yu =0324 8 -0215 0.154
yy =0.324 9 v 9 -0316 0.235
u Yy=2530 U 00 0.0

Yy = 2530,(F,U) =

e
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